Radical Expressions (Simplifying, Adding, Subtracting, Multiplying,
Dividing and Rationalizing the Denominator)
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Square Root Perfect Squares Cubes Root Perfect Cubes
1 1 1 1
2 4 2 8
3 9 3 3x3x3= 273(77=3
4 16 4 64
5 25 5 125
6 36 6 216
7 7R {9 =7 7 343
8 64 8 512
9 81 9 729
10 100 10 1000
11 121
12 144
13 169
14 196
15 225

Directions: Find each of the following square roots.
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Directions: Simplify each radical expression.
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Directions: Add or subtract the radical expressions and simplify your answer.
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Directions: Multlply or divide the radical expressions and simplify your answer
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